1/4” X 1/2" LONG
CARRIAGE 'BOLT & NUT
USE EXTRA

174" X 3/4"
HEX HEAD SELF
DRILLING SCREW

3/47 X 1—1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE,

27 GALV, STEEL

HORIZONTAL TRACK
16 GAGE DR 13 GAGE " a
BASED ON THE WEIGHT @ ) gaEEI(Q?\AIJ Aﬁ- S)((sz 48

13 GAGE MIN: GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
5/16" X 1—1/2"LAG SCREWS.

!

DETAIL D

2" 16 GAGE GALV. STEEL

/ VERTICAL TRACK BOLTED

1
/ TOP BRACKET WITH

e @ °

Il

)

TG TRACK BRACKETS WITH

1/47-20 X 5/8" TRACK BOLTS,

OPENING HEIGHT
{NOT OVER
DOGR HEIGHT)

637 (BFT HIGH).

37:: BFT. HIGHg TRACK JAMB BRACKET

42" (7FT. HIGH 9X7 2 BRACKETS FACH SIDE
iy OXB 3 BRACKETS FACH SIDE
Jﬁ pm

1/2" POLYSTYRENE
INSULATION STAgIDARD

ZOGA. END STILES FASTENED TQ
PANEL WITH TOG—L—LOCS.

USE END CAP QVER END STILES.
(SEE DETAL B)

FOR MODEL

STOP MOLDING NAILED EVERY 9" N l l )
6-D TYPE NAIL MIN. BN

11 !}

2
PANEL GALV

750, 755.
18 GAGE CGALV. STEEL CENTER HINGE 20 GAGE GALV. STEEL CENTER STILE
ATTACHED WITH 4 FASTENERS ATTACHED WITH TOG~L~LOCS OR RIVETS

13 GAGE GALV. STEEL TRACK HRACKETS, SEE ABOVE FOR QUANTITY
AND SPACING, FASTENED TO WOOD JAMBS WITH 5/18" X 1—1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

PREPAINTED STEEL
26 GAGE ALL
MCODELS EXGEPT
24 GAGE MODEL

=

L]

—

— 1]

AND

B6GA. GALV. STEEL
4GA, ROLLER HOLDER
EE DETAIL D.

l-— 2,75" —»!
DETAIL A

3" 18GA. WIDE STRUT

I- 125
_r

3*

1

9 X7
2* ROLLER WITH 7/16" DIA.
SHORT STEM

TIRE: NYLON OR 7 BALL STEEL.

9 X8
2" ROLLER WITH 7/16™ DIA,

SHORT STEM

TIRE: STEEL 7 BALL.

14 GAGE GALV. STEEL END
HINGES ATTACHED WITH

(5) SCREWS, TYP. (SEE DETAIL C).

| ™

9

% THIS STRUT BELOW
HINGE LEAF.

p OTHER STRUTS IN
MIDDLE OF SECTIONS.

GALVANIZED STEEL STRUT,

ATTACHED WITH 1/4” X 3/4"

LONG HEX HEAD SELF
DRILLING SCREWS,
(2 PER VERTICAL STILE)

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730,
750, 755, 426.

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS,

SECTION _A-—A

SEE DETAIL E.
SECTION B-—B NOTE: UNLESS SPECIFIED OTHERWISE,
ALL FASTENERS ARE 1/4"—14 X 3/4"
HEX HEAD SHEET METAL SCREWS OR
1/4"-20 X 5/8" HEX BOLTS AND NUTS.
P.SF. TABLE
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITVE | NEGATIVE | POSITIVE | NEGATIVE
9'-0"7'-0"| +31.2 |-35.8 |+46.8 |-53.7
9'-0"8'—Q" | +31.2 |—35.4 [+46.8 [-53.1

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

John E Scates PE
3121 FAIRGATE DR.
Carroliten, TX 75007
TX—PE

FL—PE—51737
(972) 482-9500

56308-F~2203

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

Professiong! Engineer's seal
provided only for verification of
windlcad construction details.

- ]

©

OPTIONAL SSH GLASS LIGHTS
4 STRUTS

3" 18GA WIDE
(SEE DETAIL A)

4"X 18" AIR VENTS

2) REQD.

B

60 SQ. IN. MIN.

TOTAL OPE

: OPTIONAL.
STRUT JUST

N AREA)

BELOW TOP
FIXTURE.,

CGPTIONAL SSB GLASS LIGHTS

5 STRUTS

3" 18GA WIDE
(SEE DETAIL A)

Ez) REQ'D.
60 SQ.

TOTAL OPE
OPTIONAL.

STRUTS ON
HINGE LEAF.
(SEE DETAIL C)

47X 16"’ AIR VENTS
IN. MiN.

N AREA)

CENTER STILE & HINGES

ALTERNATE CONSTRUCTION FOR

(1) COLUMN
N S WINDOWS USING (2) STRUTS
OPTIONAL
LONG PANEL
oA / EMBOSSES
2 ot i /A
LL i 7 | ol FTIONAL LOCK
| T ] ALA T
L g i ) | i ) s
7|
4 SECTION
1 T =
Lo ) o g y
9" (SINGLE CAR)
9 X 7

ALTERNATE CONSTRUCTION FOR

OPTIONAL

WINDOWS USING (2) STRUTS
/,

LONG PANEL
EMBOSSES

OPTIONAL LQCK

9 X 8

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION
SPRINGS]},

USE ONE

EXTRA SELF DRILLING
SCREW THROUGH
LEAF QF HINGE, END
STILES AND RAIL.
TYP. PER FACH

END HINGE. —— 7 |

@' (SINGLE CAR)

IS Y
_\\\\W/
DETAIL C \:GJ 7 RAILS

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

END STILE 20GA.

DETAIL B

9 X /
9 X 3

IFL 15080

5800 SCOTT
WINDSOR |Hvion or.
LITTLE ROCK, AR
72209
DOOR (501) 562-1872
MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D _|REV 1060 & ADDRESS[1 /28713 WINDLOAD RESIDENTIAL PAN DOORS
C 12/15/11] RLB  ]JTOLERANCE W2 € & W4 B
B |2866{3-10-08| RLB "
FRAC.%1/64
A [2848]1T=1-07 RLB _|oce & 6% | NEXT LVEL | DaTe T DWG. NO.
281013—8-07] RLB A\ * / /BY 99-B-082
REVIECN.| DATE | APPROV.| RGNE |P-OT SCALE | DRN, | SHEET 1 OF 6




A\

©

3/4" X 1—1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE,

2" GALV. STEEL
HORIZONTAL TRACK
. 16 GAGE OR 13 GAGE.

DPENING

DO
HEIGHT)

OR FLAG BRACKET.

\2” 16 GAGE GALV. STEEL

VERTICAL. TRACK

JI—

\-—SEE DETAIL E

=
o
5

o
w
[}
—~~
(o R o]

XX
~N o
T

(SEE DETAIL B)

) [ STOP MOULDING NAILED EVERY 9"

—D TYPE NAIL MIN.

BASED ON THE WEIGHT
\ QOF THE DOQOR.

USE 51(2?\4 EI/ 3/4”
13 GAGE MIN. GALV. STEEL TRACK gpLice SHE AL SCREWS.

FASTEN TO
JAMB WITH 5/18" X 1-1/2" LAG SCREWS

WOgD

20 GAGE END STILES — FASTENED
WITH TOG—L—LOCS TQ PANEL,
USE END CAP OVER END STILES.

USE

DETAIL E %

[3 BRACKETS EACH SIDE]

18 GAGE GALV. STEEL CENTER
(RESIDENTIAL) ATTACHED WITH 4 FASTENERS,

20 GAGE GALY, STEEL CENTER STILE,
WITH TOG-L-LOC OR POP RIVETS TO PANELS.

13 GAGE GALV, STEEL TRACK BRACKETS.

HINGEng

ATTACHED

SEE ABOVE

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED N THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

1/4" X 1/2" LONG
CARRIAGE 'BOLT & NUT

EXTRA
1/4" X 3/4"
HEX HEAD SELF
DRILLING SGREW

oA .

Il

DETAIL D ]

2

L]

1/2"% POLYSTYRENE
INSULATION

STANDARD FOR
MODEL 735

1ﬂ ”
HIGH PANEL. GALV.
AND PREPAINTED
STEEL 25 GAGE AL
MODELS EXCEPT

24 GAGE MODEL
750, 755.

P N

[~

SECTION A—A

NOTE: AI7L N%N DESCRIPTIVE FASTENERS SHOWN TG BE

X 5/8" HEX BOLTS & NUTS O
1/4" X 3/4" LONG HEX HEAD SHEET ME]'AL SCREWS.

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/18" X 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY QTHERS.
SEE DETAL E.
SECTION B-B
P.S.F. TABLE
DOOR_SIZE DESIGN_PRESSURE | TESI PRESSURE
WIDTH | HEIGHT | PASITIVE | NEGATIVE | POSITIVE | NEGATIVE
3 4y »
10°—0"|7'-0"|+31.2 |-35.4 |+46.8 [-53.1
10'—0"|8'—0"|+31.2 |-35.4 |+46.8 |-53.1

5.

16 GAGE GALV. STEEL TOP BRACKET

WITH 14 GAGE ROLLER HOLDER
SEE DETAIL D.

STRUT JUST BELOW TOP BRACKET.

2" ROLLER WITH 7/16 DIA.
LONG STEM.
TIRE: STEEL 10 BALL

STRUT ON URPER PART
SEE DETAIL €.

SCREWS. SEE DETJAIL C,

STRUT ON UPFER PART
OF SECTION ON HINGE LEAF.
SEE DETAIL C.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730,
750, 755, 426.

STRUT ON BOTTOM BRACKET

13 GAGE GALV. STEEL BOTTOM BRACKET

ATTACHED WITH 2 FASTENERS.

BOTTOM SCREW CAN BE ABOVE OR

BELOW ROLLER,

OF SECTION ON HINGE LEAF.

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX—PE 54308—F—-2203
FIL—-PE-51737

(572) 452-9500

Professional Engmeers sedql

pravided only for verification of

windload construction details.

_.i

|‘— 1.25"

L—— 275" ———’

DETAIL

A

3" 1BGA WIDE STRUT

14 GAGE GALV. STEEL END HINGE
(COMMERCIAL) ATTACHED WITH {5)

NOTE: DOOR MUST BE INSTALLED Eso SQ.
WITH EITHER AN ELECTRIC OPERATOR
QR A LOCK (MUST ENGAGE BOTH

OPTIONAL 85B GLASS LIGHTS

ALTERNATE CONSTRUCTION FOR
WINDOWS USING (2) STRUTS

OPTIONAL
LONG FANEL
. EMBOSSES

A
5 STRUTS I iy f
3" 18 GA WIDE TN 7 o/

(SEE DETAIL A)

1| r

L7 |

B

[ ]
=

L]

i

[ ]

7' OR 8

OPTIONAL LOCK—/

(|

]

A
10° (SINGLE GAR)

4"X 16" AR VENTS
2) REQD.

IN. MIN.

TOTAL OPEN AREA)

TRACKS ON DOORS WITH EXTENSION OPTIONAL.
SPRINGS).
USE GNE
EXTRA SELF DRILLING [~
SCREW THROUGH
LEAF OF HINGE, END
STILES AND RAIL. 0 (/
TYP. PER EACH 0
END HINGE. — 7 | \
: N
G 7
3 0 /I
\*j \
: / RAILS
JLn 7
20GA. END CAPS;

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

FL 15080

CENTER STILES & HINGES
{2 COLUMNS)

NOTE:

IF OPTIONAL 4

EMBOSSES ARE SUPPLIED,
3 COLUMNS OF CENTER
STILES ARE REQUIRED.

DETAIL B

20 GAGE
END STILES

10 X/

10 X 8

WINDSOR

5800 SCOTT
HAMILTON DR.
LITTLE ROCK, AR
72209

(501) 562-1872

MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D |REV LOGO & ADDRESS |1/28/13 WINDLOAD RESIDENTIAL PAN DOORS
C 12/15/11 RLB W2 C & W4 B
B 12866 3-10-08 | RLB
A | 2848111-1-07 RLB NEXT LEVEL DATE; DWG. NO.
5810 3—8—07 | RLB 2/27/07 _199—B—082
REVIECN.| DATE  |APPROV.| RENE | PLOT SCALE | DRN, BY  ImemreT 2 oF o




13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.

FASTEN TO WOOD JAMB WITH

y 5/16" X 1-1/2" LAG SCREWS. . .

y 1/4" X 1/2" LONG

\ CARRIAGE BOLT & NUT
USE EXTRA

1/4" X 3/4"

HEX HEAD SELF

DRILLING SCREW

©

2" 16 GAGE GALV. STEEL

VERTICAL TRACK
USE (2) 1/4° ~
SHEE$ {AE{\L SOR? ws 3
puas 1
[T
SEE DETAL E - ~
e DETAIL D

OPENING HEIGHT
{NOT OVER
DOOR HEIGHT)

l:— 2.75" —I

DETAIL A

3" 20GA WIDE STRUT

1/2" POLYSTYRENE
INSULATION

oy STANDARD FOR
MODEL 735
o = e S
f TRACK JAMB BRACKET
[4 BRACKETS PER SIDE |
20 GAGE END STILES — FASTENED ?
WITH TOG—L-LOCS TO PANEL.

USE END CAP OVER END STILES.
(SEE DETAIL B)

7 % STOP MOLDING NAILED EVERY 6"
—D TYPE NAIL M

PANEL GALV AND
PREPAINTED STEEL
25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL
750, 735.

\_—— e
o

}\WWME

20 GAGE GALV. STEE[ CENTER STILE,

\ [ﬁ Vi .
HINGE
ATTACHED WITH TOG—L—LOCS OR RIVETS.

| 18 GAGE GALV. STEEL GENTER
13 GAGE GALV. STEEL TRACK BRACKETS. SEE AHOVE

4

/

16GA. GALV. STEEL
TOP BRACKET WITH
14GA. ROLLER HOLDER

SEE DETAIL D.

2" STEEL ROLLER WITH
7/16" DIA. LONG STEM.
TIRE: STEEL 10 BALL.

STRUT JUST BELOW
TOP BRACKET.

14 GAGE GALV. STEEL END
HINGES ATTACHED WITH (6)
SCREWS, TYP. (SEE DETAIL C).

STRUT ON UPPER PART
OF SECTION ON HINGE
LEAF. (SEE DETALL C).

STRUT ON LOWER
PART OF SECTION
ABOVE HINGE LFAF.
(SEE DETAIL C).

GALVANIZED STEEL STRUT,
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

1—-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730,
750, 755, 426.

STRUT OVER BOTTOM BRACKET.

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS.

SECTION A—A

ATTACHED WITH 4 FASTENERS,
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/18" X 1—1/2"
LAG SCREWS & WASHERS. FREPARATION OF JAMBS BY OTHERS.

SEE DETAIL E. SECTION B—B
John E Scates PE
3121 FAIRGATE DR.
Carroliton, TX 75007
TX—PE 56308 F—-2203
FL—-PE-517
P.5.F. TABLE (972) 497 9500
DQOR SIZE DESIGN PRESSURE TEST PRESSURE Professional Endineer's sedl
WIDTH [ HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE p,rgv?ded Sty for oers sedl
16‘__0” 7’_0” +31.2 |—-34.0 {+48.8 |-51.0 windload construction details,

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY DOF OTHERS.

3

NOTE: ALL NON—-DESCRIPTIVE FASTENERS SHOWN TO BE
1/47~20 X 5/8" HEX BOLTS & NUTS OR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

COPTIONAL $SB GLASS LIGHTS

ALTERNATE CONSTRUCTION FOR
WINDOWS USING (2) STRUTS

CENTER STILES (5) COLUMNS
/ CENTER HINGES (3) COLUMNS

A

OPTIONAL
LONG PANEL
EMBOSSES

8 STRUTS VLA B | e W VA B 1 A B B e i
— M T L L N RN "
3" 20GA WIDE d : ¥
(SEE DETAIL A) |l 7
LOCK OPTIONAL: )l | 4 SECTIONS
P T 3
N i L N Ll T B
SEE DETAIL C q&‘ ] 'AF' '%‘
4")x 16" AIR VENTS | l | u' LI ] |
4) REQ'D. = ; ; ; ot
§120 5Q. IN. MIN. , = A '
TOTAL OPEN AREA) « 16" (DOUBLE CAR) |
OPTIONAL.

16GA. END CAP

DETAIL B

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION
SPRINGS).

20 GAGE END STILES

TYP. LOWER STRUT REF.\

USE TWO EXTRA SELF DRILLING

SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE, END
STILE & RAIL AS SHOWN.

~ /‘\\

]
o]
e
TYPICAL EACH END HINGE /Z\ /
HINGE: —c N (
4
2" STEEL ROLLERS So \ | />
© \ ]
(LONG STEM) o . ’ //
TYP. UPPER STRUT REF. —— || \o// \ |\
e} A //
_Jn \L
RAILS
DETAIL C

NOTE: GLAZING DOES NOT SATISFY IMPACT

DEBRIS REQUIREMENTS IN FHC

FL 15080

1o X /

WINDSOR
DOOR

5800 SCOTT
HAMILTON DR.
UTTLE ROCK, AR
72209

(501) 562-1872

MODELS:
724, 426, 730, 735, 750, 755
PART NAME:

D [REV LOGO & ADDRESS[] /28 /13 WINDLOAD RESIDENTIAL PAN DOORS
C |[——12/15/11] RLB  JioLERaNCE|WZ C & W4 B
B [2866[3-10-08] RLB st /err
A 12848111-1-07] RLB DEC, + 015 NEXT LEVEL DATE: DWG. NO.

2870 3—8—07] RLE A * 2/27/07 199 -B—082
REVJEC.N.| DATE | APPROV.| RGNE | PLOT SCALE | DRNy BY  Foreer = oF 6



3/47 X 1=1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

2" GALV. STEEL

HORIZONTAL TRACK

16 GAGE OR 13 GAGE

{NOT

(3) 1/4" CARRIAGE BOLTS

13 GAGE GALV. STEEL TQFP BRACKET
WITH 10 GAGE ROLLER HOLDER.
NOTE THAT ROLLER HOLDER

£~ CURL IS TURNED DOWN.

OPTIONAL SSE GLASS LIGHTS

ALTERNATE

WINDOWS USING (2) STRUTS

CONSTRUCTION FOR
OPTIONAL
LONG PANEL

BASED ON THE WEIGHT q SEE DETAIL D. EMBOSSES
/® OF THE DOGR. 14 X 3/4" /{} .
. SHEET METAL A -
SCREWS il J e — i ! il
\ » ] ‘74 /4 /4 /4 7/ / %
/ 13 GAGE MIN. GALV. STEEL AT X 374N v ® STRUT JusT geLow —_ S=TRUTS 7 A A A A
TRACK SPLICE OR FLAG BRACKET. DRILLING SCREW TOP BRACKET. 5" 1BGA WIDE i
FASTEN TO WOOD JAMB WITH : 5 HURRICANE. ROLLER (SEE DETAIL A} &
5/18" X 1-1/2"AG SCREWS. DETAIL D ! LONG STEM L L
| 2" 13 GAGE GALV. STEEL — TIRE: STEEL 10 BALL. LOCK OPTIONAL: B ﬁ’
VERTICAL TRACK BOLTED —{1.25"}— BN I i I e I W
TO, TRACK BRACKETS WITH o A oo
1/4"-20 X 5/8" TRACK BOLTS. ] — ; :E'
—]
14 GAGE GALV. STEEL END N O N O O 1 O 1 O OO
\x 1 . HINGES (COMMERCIAL) ATTACHED / e Vit ; ; The——temyy 1
SEE DETAIL E 74" 3 WITH (B) SCREWS, TYP. SEE DETAIL C / A %1
(SEE DETAIL C.) ‘ 16" (DOUBLE CAR) ,
g__ sé%% NOf\g) NUPHFTEEEPART OF CENTER STILES —/
- = 5 COLUMNS
OPENINSVEIE'GHT } ) I i LEAF. (SEE DETAIL C). éENTER H|NG)ES NOTE: DOOR MUST BE INSTALLED
75 3 COLUMNS WITH EITHER AN ELECTRIC OPERATOR " "
DOOR HEIGHT) ) DETAIL A STRUT ON LOWER PART OF ( ) OR A LOCK {(MUST ENGAGE BOTH 44) XRE1QB'D AR VENTS
53 el A ] EEX;IO(,\‘SEAI‘EB%VI;ETATN(%E TRACKS ON DOORS WITH EXTENSION 120 SQ. IN. MIN
= _ 3" 1BGA WIDE STRUT ® ) ) TYP. LOWER STRUT REF, SPRINGS). TOTAL OI‘JEN'AREA‘)
STRUT ON UPPER PART OF ~ / OPTIONAL
SECTION ON HINGE o] 7 .
" LEAF. (SEE DETAIL ¢). USE TWO EXTRA SELF DRILLING
39 ] SCREWS THROUGH TOP AND {
G STRUT ON LOWER PART OF  BOTTDM LEAF OF HINGE, 0 /
f DETAIL E % SECTION ABOVE HINGE END STILE & RAIL AS SHOWN. 7
- V= = ~~ LEAF. (SEE DETAL C). TYPICAL EACH END HINGE. END STILE 20GA.
24" TRACK JAMB BRACKETS . : Q /
n 1/2" POLYSTYRENE GALVANIZED STEEL STRUT, [~~o (
[5 BRACKETS EACH SIDE| INSULATION STANDARD i ATTACHED WITH 1/4™ X 3/4" i
5” FOR MODEL 735 p LONG HEX HEAD SELF [] l /‘ 3
— DRILLING SCREWS. . yl
1 (2 PER VERTICAL STILE) 2" STEEL 10 BALL oo /7
20GA. END STILES FASTENED TO ? _ STRUT ON UPFER PART OF HURRICANE ROLLERS o i 7
PANEL WITH TOG—L—LOCS. .
%SE END CAP )OVER END STILES. E ,' LEAF. (SEE DETAL C). TYP. UPPER STRUT REF. ——_J| _%/ / / \/
SEE DETAIL B 24" PANELS ;
e A DETAL C [
STOP MOULDING NAILED EVERY 6 PREPAINTED STEEL L.H. END CAP
6—D TYPE NAIL MIN. 25 GAGE ALL 7 13GA.

MODELS EXCEPT

N@%*

18 GAGE GALV. STEEL CENTER HINGE 20 GAGE GALV. STEEL CENTER STILE
ATTACHED WITH 4 FASTENERS

13 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE FOR QUANTITY
AND SPAGING, FASTENED TO WQQD JAMBS WITH 5/16" X 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMES BY OTHERS.

SEE DETAIL E.

SECTION

i~

24 GAGE MODEL

1-3/8" POLYSTYRENE INSULATION
G /

750, 753, OPTIONAL FOR MQD. 724, 730, 750,
o 755, 4286,
T T STRUT ON BOTTOM BRACKET
ATTACHED WITH TOG-L—LOCS OR RIVETS > 13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 SCREWS.
SECTION A—A

B-B

P.S.F. TABLE

DOOR SIZE

DESIGN PRESSURE

TEST PRESSURE

WIDTH | HEIGHT

FOSITIVE | NEGATIVE

POSITIVE | NEGATIVE

16'-0"

8!_031

+31.21-34.0

+46.8 |—51.0

DOORS SHOWN DN THIS DRAWING HAVE BEEN DEMONSTRATED TQ WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESFONSIBILITY OF OTHERS.

NOTE: UNLESS SPECIFIED OTHERWISE,
ALL FASTENERS ARE 1/4"-14 X 3/4°
HEX HEAD SHEET METAL SCREWS OR
1/4"-20 X 5/8" HEX BOLTS AND NUTS.

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX~—PE 56308—F—2205
FL-PE-B17

(972) 492— 9500

Professional Engineer's seal
provided only for verification of
windload construction details.

RAILS

NOTE: GLAZING DOES NOT SATISFY IMPACT

DEBRIS REQUIREMENTS IN FBC

DETAIL B

FL 1

1o X 8

0080

5800 SCOTT
mmson HAMILTON DR.
LITTLE ROCK, AR
72209
DOOR (501) 562-1872
MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D |Rev 1060 & AvbRess|] /28 /13 WINDLOAD RESIDENTIAL PAN DOORS
C |—12/15/11 RLB TOLERANCE | W2 C & W4 B
B [2866/3-10-08 RLB |y /or
A [2848111=1=07] RLB DEC. + .015 NEXT LEVEL DATE: DWG. NQO.
5810 B—8—07| RLB AN * 2/27/07 _199—-B—082
REV|E.C.N.| DATE | APPROV.| RGNE | THOT SCALE | DRN B oeeT 4 oF 6




3/4" X 1—1/2" X 13GAGE MIN.
GALV., STEEL HORIZONTAL ANGLE.

2" GALY. STEEL

HORIZONTAL TRACK %
16 GAGE OR 13 GAGE. /
BASED ON THE WEIGHT

OF THE DOOR. ]
R 1/4” X 3/4"
SHEET METAL J
SCREWS / —~l—5/a"

13 GAGE MIN. GALV, STEEL

{3) 1/4” CARRIAGE BOLTS
SHAFT COLLAR

13 GAGE GALY. STEEL TOP BRACKET
WITH 10 GAGE ROLLER HOLDER.
NOTE THAT ROLLER HOLDER

CURL 15 TURNED DOWN.

\) SEE DETAIL D.

STRUT JUST BELOW
TGP BRACKET

N .

t— 1.257

QPTIONAL SSB GLASS LIGHTS

1=

'—'>

ALTERNATE CONSTRUCTION FOR
WINDOWS AUSING (2) STRUTS

OPTIONAL
LONG PANEL
EMBOSSES

2" ROLLER WITH
7/16" DIA. LONG STEM
WITH SHAFT COLLAR.
TIRE: STEEL 10 BALL.

STRUT ON UPPER PART
OF SECTION ON HINGE LEAF.

XTRA
1 /4% X 3/4"
HEX HEAD SELF
DRILLING SCREW

DETAIL D

TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WQOD JAMB WITH
5/16" X 1—1/2" LAG SCREWS.

i

D SEE DETAL C.

SEE DETAIL "E"

- 2" 16 GAGE GALV. STEEL

STRUT ON LOWER PART
VERTICAL TRACK

OF SECTION ABOVE HINGE
LEAF. SEE DETAIL C.

14 GAGE GALV. STEEL END

OPENING HEIGHT HINGE COMMERCIAL ATTACHED WITH (8)
(NDT OVER SCREWS. SEE DETAL C.
DADOR HEIGHT) 63"

DETAIL E

I4 BRACKETS EACH SIDEI

—IF

18CA. END CAP & RIVETS

217 o . STRUT ON UPPER PART
1/2" POLYSTYRENE OF SECTION ON HINGE LEAF.
INSULATION SEE DETAIL C.
STANDARD FOR

MODEL 735

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4” X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS.

{2 PER VERTICAL STILE)

STOP MOLDING NAILED EVERY 6™
6D TYF'E NAIL MiN.

b
:@an {4

18 GAGE GALV. STEEL CENTER HINGE
RESIDENTIAL ATTACHED WITH 4 FASTENERS.

20 GAGE END STILES — FASTENED
WITH TOG-L—LOCS TQ PANEL.
USE END CAP OVER END STILES,

MODELS EXCEPT
24 GAGE MODEL
\—1 —3/8" POLYSTYRENE INSULATION
DPTIONAL FOR MQD. 724, 730, 750, 755, 426,

11 750, 755.
E
< ﬁﬂ:@% [\:\STRUT ON BOTTOM BRACKET

! GAGE GALV,
20 GAGE GALV. STEEL CENTER STILE. A CACE COLY, STEEL BOTIOM BRACKET

ATTACHED WITH TOG—L-LOCS OR RIVETS. i HED VI 2 FASTENERS.

SECTION A—A

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE
FOR SPACING. FASTEN TO WOQD JAMBS WITH 5/18" X 1-1/2"

LAG SCREWS & WASHERS., PREPARATION OF JAMBS BY OTHERS., SEE DETAIL "E".

SECT!ON B-—B NOTE: ALL NON DESCRIFTIVE FASTENERS SHOWN TO BE
1/4°-20 X 5/8 HEX BOLTS & NUTS OR
1/4" X 3/4 LONG HEX HEAD SHEET METAL SCREWS.
P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE TEST PRESSURE
WIDTH HEIGHT [ POSITIVE | NEGATIVE | POSITIVE [ NEGATIVE
18 —-0"17'__p” 21— — John E Scates PE
7 —=071+31.2 |—34.0 [+46.8 -51.0 o EARSATE DR,
Carrollton, TX 75007
TX—PE 56308—F-2203

FL—PE-51737
(972) 49256500

Professional Engineer's sedl
provided only for verification of
winhdload construction details,

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TQ ANSI/DASMA 108-05.

DETERMINATION DF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

,——— 2.75" —4

DETAIL A

3" 18GA WIDE STRUT

DETAIL B

21" HIGH PANEL
GALY. AND 28 STRUT IN MIDDLE OF BOTTOM SECTION,
(SEE DETAL B) PREPAINTED STEEL /
25 GAGE ALL %

H i il il e i T —
9 STRUTS 22NNV 717 77V 77 70017 7 H T
3" 1BGA WIDE
(SEE DETAL #) LU IR T | 4 SEcTIONS
LDCK OPTIONAL— B Y
r SEE DETAIL C ez ! e Roommepeet | Masmnt
- [— — — —
3" A
l N = A ;
f 18" (DOUBLE CAR) |

20 GAGE
END STILES

SHAFT COLLAR

5/8" SPACE

NOTE: DDOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH |
TRACKS ON DOORS WITH EXTENSION
SPRINGS).

5/8" SPACE—" |

4" X 16" AIR VENTS

1/8" STEEL POP—RIVET 4) REQ'D.

TOP AND BOTTOM OF 120 5Q. IN, MIN.

ENDCAP TO END STILE. TOTAL OPEN AREA)
OPTIONAL.

USE TWQ EXTRA SELF DRILLING

SCREWS THROUGH TOF AND
BOTTOM LEAF OF HINGE,
END STILE & RAIL AS
SHOWN. TYPICAL EACH
END HINGE.

TYPICAL UPPER

STRUT REFERENCEX
SHAFT COLLAR \\O/

/

@

DETAIL "F”

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

FL 15080

\—CENTER STILES {7 COLUMNS)
CENTER HINGES (3 COLUMNS)

TYPICAL LOWER
STRUT REFERENCE

0
0
/oY
o

o0

o/

0

|

\—— SHAFT COLLAR
TYPICAL ON
EACH ROLLER,

DETAIL C

18 X/

5800 SCOTT
WINDSOR ! rviLon DR,
LITTLE ROCK, AR
72209
Doon (501) 562—-1872
MODELS:
724, 426, 730, 73b, 750, 755
PART NAME:
D IREV LOGO & ADDRESS']/28/1 3 WINDLOAD RESIDENTIAL PAN DOORS
C 12/15/11] RLB [TOLERANCE|W2 C & W4 B
B 2866 [3-10-08] RLB 1 e
A |2848[11—1-07 RLB |ore. « bis | NEXT LEVEL | DATE, DWG. NO.
5810 3—8—07] RLB |6 * 1 2/27/07 199 -B—082
REV|E.C.N.| DATE | APPROV.| RENE | FLOT SCALE | DRNyBY  Foieer 5 oF 6




3/4" X 1=1/2" X 13GAGE MIN,

\
13 GAGE MIN

N

D ON THE WEIGHT

GALY. STEEL HORIZONTAL ANGLE,
2" GALV. STEEL
HORIZONTAL TRACK
16 GAGE DR 13 GAGE.

y BASE|

OF THE DQQR.

. GALV, STEEL

TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
B/16" X 1-1/2" LAG SCREWS.

I_\_

SEE DETAIL "E”

VERTICAL TRACK

I

OPENING HEIGHT
(NOT OVER

DOOR HEIGHT) r

J—
=

39"

240 5311

—— 2" 16 GAGE GALV. STEEL

1/47 X 3/4" f /@f
SHEET METAL
SCREWS / ‘I

EXTRA

1/47 X 3/47
HEX HEAD SELF
DRILUNG SCREW

(3) 1/4” CARRIAGE BOLTS
SHAFT COLLAR

DETAIL

13 GAGE CALV. STEEL TOP BRACKET
WIOH 10 GAGE ROLLER HOLDER.
NOTE THAT ROLLER HOLDER

CURL 15 TURNED DOWN.

SEE DETAIL D.

STRUT JUST BELOW TOP HRACKET.

2" ROLLER WITH
7/16" DIA. LONG STEM
WITH SHAFT COLLAR,
TIRE: STEEL 10 BALL.

STRUT ON UPPER PART
QF SECTION DN HINGE LEAF.

SEE DETAIL C. 3

— STRUT ON UPPER PART

NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE

20 GAGE END STILES — FASTENED

WITH TOG-L—LOCS TO PANEL,
USE END CAP OVER END STILES,
(SEE DETAIL B)

6D TYPE NAIL MIN,

STOP MOLDING NAILED EVERY 87 \Q‘
<SS

DETAIL E

|5 BRACKETS EACH SIDE

1/4"-20 X 65/8” HEX BOLTS & NUTS OR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS,

1/2" POLYSTYRENE

L

INSULATION
STANDARD FOR
MODEL 735
N
19—1/4" HIGH PANEL
A GALYV. AND

PREPAINTED STEEL
25 GAGE ALL

14 GAGE GALV. STEEL END
/ HINGE COMMERGIAL ATTACHED WITH (6)

\STRUT ON LOWER PART

OF SECTION ABOVE HINGE
LEAF., SEE DETAIL C.

QF SECTION ON HINGE LEAF,
SEE DETAIL C.

SCREWS. SEE DETAIL C.

STRUT ON UPPER PART
OF SECTION DN HINGE LEAF.
SEE DETAIL C.

GALVANIZED STEEL STRUT,
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS,

(2 PER VERTICAL STILE)

1BGA WIDE STRUT

OPTIONAL

ALTERNATE. CONSTRUCTION FOR LONG PANEL
OPTIONAL. SSB GLASS LIGHTS WINDOWS USING (2) STRUTS EMBOSSES
—\ !__>A .
11 _STRUTS M 1oLl i 1ELE — ] I —— T N[
3" 16GA WIDE | A W1 VA N | R VA | R VA N1 i M | R | R a1 1 Vi
i

(SEE DETAIL A)

[

—-—| [ 1.25°

]

]
[]

5]

»  OPTIONAL LO CK-\

] i

[
—

i

g
l——_‘l' 5 BECTIONS
]
L]

B

—
]

i

3
N
SEE DETAIL ©

I

DETAIL A

A

[
Z4")( 16" AIR VENTS

4) REQ'D.
120 SQ. IN. MIN,

1/8" STEEL POP—RIVET
TGP AND BOTTOM OF
ENDCAP TO END STILE.

TOTAL OPEN AREA)
OPTIONAL.

18" (DOUBLE CAR)

TYPICAL LOWER
STRUT REFERENCE

CENTER STILES (7 COLUMNS)
CENTER HINGES (3 COLUMNS)

18 GAGE GALV, STEEL CENTER HINGE
RESIDENTIAL. ATTACHED WITH 4 FASTENERS.

“—20 GAGE GALV. ; EEL CENTER STILE,

MODELS EXCEPT

ATTACHED WITH TOG—L-LOCS OR RIVETS. 04 GAGE MODEL

STRUT IN MIDDLE OF BOTTOM SECTION,
E 1—3/8" POLYSTYRENE INSULATION

./— OPTIONAL FOR MOD. 724, 730, 750, 758, 426.

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

USE TWO EXTRA SELF DRILLING RAILS
SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE,
END STILE & RAIL AS
20 GAGE o
20 GAGE SHOWN. _ TYFICAL EACH // \\
SHAFT COLLA| 2 / \
R
—5/8" / \
0 /
SHAFT COLLAR 14 \ (
= )
16GA. END CAP & RIVETS TYFICAL UPPER So v
5/B” SPACE STRUT REFERENCE—\ g : \\
\Q/ \
o \
NOTE: DOOR MUST BE INSTALLED "
WITH EITHER AN ELECTRIC OPERATOR % SHAFT COLLAR
OR A LOCK (MUST ENGAGE BOTH TYPICAL ON
TRACKS ON DOORS WITH EXTENSION EACH ROLLER.
SPRINGS). H.
RINGS) 5/8" SPACE— | ® ~~/ LH
DETAIL "F” DETAIL C

IFL_ 15080

18 X 8

780, 755.
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE AHOVE
FOR SPACING. FASTEN TO WQOD JAMBS WITH 5/16" X 1—1/2" STRUT ON HOTTOM BRACKET
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY QTHERS. SEE DETAL "E". ALV S M BRA
13 GAGE GALV. STEEL BOTTOM BRACKET
SECTION B—B ATTACHED WITH 2 FASTENERS.
SEE DETAIL "F"
SECTION A-—A
P5F. TABLE
DOOR_SIZE DESIGN PRESSURE | TEST PRESSURE
WIOTH | HEIGHT | POSIVE | NEGATIVE | POSITIVE | NEGATVE
18 —-0718"-0"+31.2 |-34.0 |+46.8 |-51.0 John E Soates PE
3121 FAIRGATE DR.

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

Carrollton, TX 75007
TX 56

FL=PE-51737
(972) 492-9500

308—F~-2203

Professional Engineer's seal

provided only for verification of
windload construction details.

WINDSOR

5800 scoTtr
HAMILTON DR.
LITTLE ROCK, AR
72209

(501) 5621872

MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D |Rev LOGO & ADDRESS[] /28/13 WINDLOAD RESIDENTIAL PAN DOORS
C 12/15/11] RILB JTOLERANCE|W2 € & W4 B
B |2866[3—-10-08] RLB »
A_[2848[11-1-07 RLB |orc & bia | NEXT LEVEL| _DATE: | DWG. NO.
2810 3—8-07] RLB | £ 1 2/27/97 199 —-B—082
REV.[E.CN.| DATE | apProv.| RENE |PLOT SCALE | DRN, BY et or 6




